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5 % % [E]3E 5 0 8 54]
T f& Rl A Bl B LAl EEE- e N
BT PEHI T A m3 650
T PR ARREST m3 2
HERT MR m3 33
TESERE T T ¥ g m3 610
R IE FmHEIE m2 119
PlEsE T 7" VR AMERE T 7" VoA ML BERE H=1500 m 2.0
Fv8— kL T VR AN =ML K 9 I AN = 1000 X 700 X 2000 T-25 m 10.0
/NRK T v L B R A Bl 300 X 300 m 104. 0
BT B A B 300X 400 m 24.0
BT B A B 300X 500 m 8.0
Byl B A EA 300 X 300 m 4.0
Bl [ A EAE 300 X 400 m 6.0
BiE A A EANE ) - 2 HIEF W=300 L=500 # 108
BiE A E AR V-F ) HUE A W=300 L=1000 K 14
B A A A B V-F ) KT W=300 L=1000 K 5
e Vu ¢ 300 m 1.0
oKL VI 600 X 600 X 600 (£ K@) B8 1
SRkt 600 X 600 X 800 (£ /K tD~@) 3 3
VARV VA 600X 600 T-25 e 4
RER% by S F%E T & T 3




5 % % [E]3E 5 0 8 54] (3/16)
T f& iR A Bl B XA EEIE- S P T (s

MIEYRE L EEWEL D LT (AW T 72770h t=15cmEd T m 61

A IR T 7A77Wh t=10cmPL m2 576

HEIEMELD 1L T HEFG 2V ~h m3 40. 2

SR 3 - SV S R m3 9.8

ELL R T TAT 7 m3 28. 8

Iy B Ul T A2V —b m3 40. 2

B0 5 U E g T TIRELE, m3 9.8

VUK ¢ TAT 7V m3 28.8

VUK ¢ TRV m3 40. 2

A5 # TR m3 9.8
LT HE A T BT A BERIFEAS20F t=4cm m2 834

A T M-40 t=8cm m2 747

T s RC-40 t=13cm m2 733

FEIR AHL T RC-40 t=56cm m2 733

NGNS /i ERT M-25 t=3cm m2 87
B R T  [ERMARES T X L FHRA AV W=15cm m 335. 6

FRL HISEEER7 ny)  BRE m 26
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T I # g & 5 X

A HEFHEELY
306.8 + 343. 4
(1K) 2IRK)
A HEFHEELY
2.3
(1K)
A HEFHEELY
15.9 + 17.3
(1K) 2IRX)
(x=%1e3% ¢=0.9)

650.2 —

( 2.3 + 33.2 ) = 0.9

Ak HEHEELY

119.3

650.2 m3

2.3 m3

33.2 m3

610.8 m3

119.3 m2




+ T 5 &
2 HI (m3) iva (m3) B R (m3)
B HiREg E¥ M T = W B EiE T = W ¥ T =
1TX
NO. 2+13. 2
5.20|  —| 36| @ —| - 02| -]
NO. 3
60. 00 6. 80 3.70 25.16 0.2 0.20 1.36
BC. 1
66. 63 6.63 3.85 25.53 co0| @ -—-—l @ — 0.2 0.20 1.33
SP. 1
75. 86 9.23 3.80 35.07 0.1 0.05 0.46 0.2 0.20 1.85
NO. 4
80. 00 4.14 3.70 15.32 0.1 0.10 0.41 0.2 0.20 0.83
EC. 1
85.09 5.09 3.70 18.83 0.1 0.10 0.51 0.2 0.20 1.02
BC. 2
87.92 2.83 3.65 10. 33 0.1 0.10 0.28 0.2 0.20 0.57
SP. 2
100. 82 12.90 3.80 49.02 0.0 0.05 0.65 0.2 0.20 2.58
EC. 2
113. 71 12. 89 4.05 52.20 0.2 0.20 2.58
NO. 5+18. 2
118.20 4.49 4.15 18. 63 0.2 0.20 0.90
NO. 6
120. 00 1.80 4.20 7.56 0.2 0.20 0.36
NO. 6+1. 3
121.30 1.30 4.20 5.46 0.2 0.20 0.26
NO. 8+17.9
17790 ——| 39| = —] 02| ]
NO. 9
180. 00 2.10 3.90 8.19 0.2 0.20 0.42
NO. 9+9. 1
189. 10 9.10 3.90 35.49 0.2 0.20 1.82
B 79. 30 306. 8 2.3 15.9




HEA (m3) ®_ (m3) R (m3)
I G5 g i B A W E R + & i A W E R + B i A W E R + B
2T X
NO. 0+1.0
100 - N R e
NO. 1
20. 00 19.00 4.0 4.00 76. 00 0.2 0.20 3.80
NO. 2
40. 00 20. 00 4.1 4.05 81.00 0.2 0.20 4.00
NO. 3
60. 00 20. 00 4.0 4.05 81.00 0.2 0.20 4.00
1P 1
78.70 18.70 4.3 4.15 77.61 0.2 0.20 3.74
NO. 4
80. 00 1.30 4.5 4.40 5.72 0.3 0. 25 0.33
NO. 4+4.9
84. 90 4.90 4.5 4.50 22.05 0.3 0.30 1.47

& 83. 90 343. 4 17.3




EmMEIE

L BiyERe

B AEAE

&kt

LAVTYY)) TN

A1

A2

A3

A4

3

Gl

2.0

146.0

4.0

10.0

i om

1.45
0.67
1.00

1.46

2.9

97.8

4.0

14.6

119.3

119.3 m2




PERET
7" VYA MBERE T

L BpEEE (H=1500)

B B T

2.0

il

S

2.0




INBUKER T

BhEE 8B AERIE (300X 300)

L = 36.0 + 68.0
(1K) (2IX)

PEEBBaERAIE (300x400)

L = 24.0
(1TX)

BrEE 8B AERIE (300X 500)

L = 8.0
(1TRX)

HE AR S B8R YERE (300 x300)

L = 4.0
2TX)

H A ER B HAERE (300 x400)

L = 6.0
(1TRX)

FhERBhaRAEIY))-tE (BB, =300, L=500)

N = 108.0

rERBRAERRME V-F & (EERA, W=300, L=1000)

N = 14.0

I

8.0

4.0

6.0

108

14

104.0 m

240 m
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K B T & B &

FhEE EHAERAIE) V-7 & (HREA, ¥=300, L=1000)

N = 5.0
Rkt T (600 % 600 x 600)
N = 1.0
(1IX)
£ K #t T (600 % 600 x 800)
N = 3.0
(1IX)

SAKBITL—F % (600x%600, T-25)

N = 4.0

BEE (Vugd300)

L = 1.0
(1R NO.9+9. 18t )

Ry XAJ)/3— bk (1000 x 700, T-25)

L = 10.0
(1TX)

g5

5 #

1 &

3 &

4 &

1.0 m

100 m

3 &




] g X % =
SKk®  HFK#O (G-B600-L600-H800) G-B600-L600-H800
G-B600-1600- n =187 n= 1877
H800
——— 1#HmAHY ——— ——1EAHY-—
-a>%')—k(18-8-25BB)
v1=0.90x0.90 X 0.95 X 1 = 077
—v2=0.60%0.60 X 0.80 X 1 =-0.29
—v3=0.42 X 0.40 X 0.15 X 1(VS300 X 300) =-0.03
—v4=0.20%0.20 X 0.15 X 1(BF-200) =-0.01 avy)—k
YV = 044 m3 V=0.44 m3
T A
al=0.90x0.95%2 X 1 =17
a2=0.90%0.95%2 X1 =17
a3=0.60%x0.80%2 X1 =10
a4=0.60%0.80%2 X1 =10
—a5=0.42%0.40x 2 x 1(VS300 X 300) =-0.3
—a6=0.20x0.20 X 2 x 1(BF-200) =-0.1 B
YA =50m2 A=5.0 m2
-JL—F 7 ET-25(600 x 600 FH) JL—F I ET-25
n=1%8&K n=14%
- LR FF(RC-40,t=15cm) M
A=1.00%1.00 X1 =1.0 m2 A=1.0 m2
-EEE FEEM
A=1.00%1.00 X1 =1.0 m2 A=1.0 m2




] g X % =
k@  HFK#Q (G-B600-L600-H800) G-B600-L600-H800
G-B600-L600- n =187 n= 1877
H800
——— 1#HmAHY ——— ——1EAHY-—
-a>%')—k(18-8-25BB)
v1=0.90x0.90 X 0.95 X 1 = 077
—v2=0.60%0.60 X 0.80 X 1 =-0.29
—v3=0.42 X 0.40 X 0.15 X 1(VS300 X 300) =-0.03
—v4=0.42x0.50x0.15 X 1(VS300 X 400) =-0.03
—v5=0.20 X 0.20 X 0.15 X 1(BF-200) =-0.01 avy)—k
V= 041m3 V=041 m3
R
al=0.90%0.95%2 X1 =17
a2=0.90%0.95%2 X1 =17
a3=0.60%x0.80%2 X1 =10
a4=0.60%x0.80%X2 X1 =10
—a5=0.42%0.40x 2 x 1(VS300 X 300) =-0.3
—a6=0.42%0.50x 2 X 1(VS300 X 400) =-04
—a7=0.20%x0.20 X 2 x 1(BF-200) =-0.1 B
TA=46m2 A=4.6 m2
-5 L—F 2 ET-25(600 x 600 FH) JL—F Y ET-25
n=1#% n=1%
- EL 44 (RC-40,t=15cm) W
A=1.00%1.00 X1 =1.0 m2 A=1.0 m2
-EEEh T
A=1.00%1.00 X1 =1.0 m2 A=1.0 m2




] g X % =
k3  HFKHG (G-B600-L600-H800) G-B600-L600-H800
G-B600-1600- n =187 n= 1877
H800
——— 1#HmAHY ——— ——1EAHY-—
-a>%')—k(18-8-25BB)
v1=0.90x0.90 X 0.95 X 1 = 077
—v2=0.60%0.60 X 0.80 X 1 =-0.29
—v3=0.42x0.50x0.15 X 1(VS300 X 400) =-0.03
—v4=0.42x0.50x0.15 X 1(VS300 X 400) =-0.03 avy)—k
TV = 042m3 V=042 m3
T A
al=0.90x0.95%2 X 1 =17
a2=0.90%0.95%2 X1 =17
a3=0.60%x0.80%2 X1 =10
a4=0.60%0.80%2 X1 =10
—a5=0.42%0.50% 2 X 1(VS300 X 400) =-04
—a6=0.42x0.50 X 2 X 1(VS300 X 400) =-04 B
TA=46m2 A=4.6 m2
-JL—F 7 ET-25(600 x 600 FH) JL—F I ET-25
n=1%8&K n=14%
- LR FF(RC-40,t=15cm) M
A=1.00%1.00 X1 =1.0 m2 A=1.0 m2
-EEE FEEM
A=1.00%1.00 X1 =1.0 m2 A=1.0 m2




] g X % =
ki@  HFK#@ (G-B600-L600-H600) G-B600-L600-H600
G-B600-1600- n =187 n= 1877
H600
——— 1#HmAHY ——— ——1EAHY-—
-a>%')—k(18-8-25BB)
v1=090x0.90%0.75 X1 = 0.61
—v2=0.60 % 0.60 X 0.60 X 1 =-0.22
—v3=0.42x0.60 X 0.15 X 1(VS300 X 500) =-0.04
—v4=0.07m2x0.15 x 1({§E & ®300) =-0.01 avyl)—+k
YV = 034m3 V=0.34 m3
T A
al=090x0.75%2 X 1 =14
a2=0.90%0.75%2 X1 =14
a3=0.60%x0.60X2 X1 = 07
a4=0.60%0.60X2 X1 = 07
—a5=0.42%0.60x 2 X 1(VS300 X 500) =-05
—a6=0.07m2 X 2 x 1({EE & D 300) =-0.1 B
YA =36m2 A=3.6 m2
-JL—F 7 ET-25(600 x 600 FH) JL—F I ET-25
n=1%8&K n=14%
- LR FF(RC-40,t=15cm) M
A=1.00%1.00 X1 =1.0 m2 A=1.0 m2
-EEE FEEM
A=1.00%1.00 X1 =1.0 m2 A=1.0 m2




W E I 8 = & i =
HET
HESHE
RETL (BEZEREAS20F t=4cm)
A = 363.2 + 384.3 + 87.0 = 834.5 m2
(1IR) (2IK) (REERN)
LTERET (M-25 t=8cm)
A = 363.2 + 384. 3 = 747.5 m2
(1IR) 2IRX)
TrERET (RC-40 t=13cm)
A = 352.7 + 380.5 = 733.2 m2
(1IR) 2IRX)
BEMET (RC-40 t=56cm)
A = 352.7 + 380.5 = 733.2 m2
(1IR) Q2IRX)
REEIE (48 B MM-25, t=3cm)
A = 87.0 = 87.0 m2

(RERRA)




~ W B it 8 & _
xKEL FRERET TE-EBHMET
A R L it B TG Ei5 B TG EiE B TG EiE
1T
NO. 2+13. 2
53.20 | - 458 | - - 458  —— - 438 | -
NO. 3
60. 00 6. 80 4.58 4.58 31. 14 4.58 4.58 31.14 4.38 4.38 29.78
NO. 4
80. 00 20.00 4.58 4.58 91. 60 4.58 4.58 91. 60 4.38 4.38 87.60
BC. 2+6.5
94. 42 14.42 4.58 4.58 66. 04 4.58 4.58 66. 04 4.38 4.38 63. 16
BC. 2+6. 5
94.42 | N N N
NO. 6
120. 00 25.58 4.58 4.58 117.16 4.58 4.58 117.16 4.58 4.58 117.16
NO. 6+1. 3
121. 30 1.30 4.58 4.58 5.95 4.58 4.58 5.95 4.58 4.58 5.95
NO. 8+17.9
17790 | ———- N N e
NO. 9
180. 00 2.10 4.58 4.58 9. 62 4.58 4.58 9. 62 4.38 4.38 9.20
NO. 9+9.1
189. 10 9.10 4.58 4.58 41. 68 4.58 4.58 41. 68 4.38 4.38 39. 86
& 79. 30 363. 2 363. 2 352. 17




~ W B it 8 & _
xKEL FRERET TE-BHMET
A R L it B TG Ei5 B TG EiE B TG EiE
2T X
NO.0+1.0
100 [  —— 458 |  — - 458  —— - 458 |  — -
NO. 1
20.00 19. 00 4.58 4.58 87.02 4.58 4.58 87.02 4.58 4.58 87.02
NO. 2
40. 00 20.00 4.58 4.58 91. 60 4.58 4.58 91. 60 4.58 4.58 91. 60
NO. 3
60. 00 20.00 4.58 4.58 91. 60 4.58 4.58 91. 60 4.58 4.58 91. 60
NO. 3+5.9
65. 90 5.90 4.58 4.58 21.02 4.58 4.58 21.02 4.58 4.58 21.02
NO. 3+5.9
65.90 | = —— N N e
NO. 4
80.00 14.10 4.58 4.58 64. 58 4.58 4.58 64. 58 4.38 4.38 61.76
NO. 4+4.9
84. 90 4.90 4.58 4.58 22. 44 4.58 4.58 22. 44 4.38 4.38 21. 46
B 83. 90 384. 3 384. 3 380. 5
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XE#RT (" 4vb=X, W=15cm)

L = 167.8 x 2 = 335.6 m

iERJov o) T (BfE)

L = 26.0 = 26.0 m

2TX)




B E YW B £ I #1 2 ft B £
BEYRET
fHEEUIMT T (AS, t=15cmELTF)
1ZX L1 = NO.2+13.2 = 4.0
L2 = EP = 5.0
1TZX L1 = NO.4~N0.5 = 52.0
61.0 = 61.0 m
EHEMRENE L (t=5cm)
A = 204.3 + 117.0 + 2547 = 576.0 m2
V = 576.0 x 0.05 = 28.8 m3
aAvyU—FREL (EHIVII-H)
INBY R R Vi = ( 66.8 + 10.0 + 77.7 )x 0.195 = 30. 13
JK & B2 V2 = ( 66.8 + 10.0 )x 0.100 = 7.68
¥ B 7K R V3 = 6.2 x 0.390 = 2 49

40.23 = 40.2 m3




B E Y B X I %

aAVY ) — bERARAH (ZREGH)

10.0 x  0.047

Kig= Vi

BF-250 V2

( 66.8 + 10.0 +

8.0 x 0.600

& yhamn -b V3

avyy—reE (EHavsU—1)

V = 40. 2

avyy—reE (ZRE)

V = 9.8

Gl

71.7 )x 0.029

i B

= 0.47

= 4.48

= 4.80

9.75

9.8 m3

40.2 m3

9.8 m3
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